







Rewrite left hand side as:

$$\sum_{i=1}^{k+1} i = \frac{k^2 + 3k + 2}{2} = \frac{(k+1)(k+2)}{2}$$

Since we proved both base case and inductive step, property holds.

4

Inductive step:

 $\sum_{i=0}^{k+1} 2^i = \sum_{i=0}^k 2^i + 2^{k+1}$

Example 2, cont.

$$\sum_{i=1}^{l+1} y^{i} - \sum_{i=1}^{h} y^{i-1} x^{k+1}$$
• By the inductive hypothesis, we have:

$$\sum_{i=1}^{l+1} y^{i} - \sum_{i=1}^{h} x^{i-1} x^{k+1}$$
• By the inductive hypothesis, we have:

$$\sum_{i=1}^{h} y^{i} - 2^{k+1} - 1$$
• Therefore:

$$\sum_{i=1}^{h} y^{i} - 2^{k+1} - 1 + 2^{k+1}$$
• Rearrise as:

$$\sum_{i=1}^{h} y^{i} - 2^{k-1} - 1 + 2^{k+2} - 1$$
• Rearrise as:

$$\sum_{i=1}^{h} y^{i} - 2^{k-1} - 1 + 2^{k+2} - 1$$
• Rearrise as:

$$\sum_{i=1}^{h} y^{i} - 2^{k-1} - 1 + 2^{k+2} - 1$$
• Thus, $k + 1 < 2^{k} + 2^{k} + 1$
• Since $1 \le 2^{k}$ for all positive integers $k + 1 < 2^{k} + 2^{k}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k+1}$
• Thus, $k + 1 < 2^{k} + 2^{k} = 2^{k} + 2^{k} + 2^{k}$
• Thus, $k + 1 < 2^{k} + 2^{k}$

Correctness of Induction

- Why is induction a valid proof technique?
- Suppose we can prove the base case and inductive step, but $\forall n.P(n)$ does not hold for positive integers.
- There must be a least element k for which P(k) doesn't hold.
- Two possibilities: Either (i) k = 1 or (ii) $k \ge 2$
- (i) k cannot be 1 because we proved P(1) in base case
- (ii) Since k is the least element, we know P(k-1) holds
- ▶ But, in the inductive step we proved $P(k-1) \rightarrow P(k)$; thus, P(k) must also hold!

Motivation for Strong Induction

- Prove that if n is an integer greater than 1, then it is either a prime or can be written as the product of primes.
- Let's first try to prove the property using regular induction.
- **Base case (n=2)**: Since 2 is a prime number, P(2) holds.
- ► Inductive step: Assume k is either a prime or the product of primes.
- But this doesn't really help us prove the property about k + 1!
- Claim is proven much easier using strong induction!

Strong Induction

- Slight variation on the inductive proof technique is strong induction
- Regular and strong induction only differ in the inductive step
- Regular induction: assume P(k) holds and prove P(k+1)
- Strong induction: assume P(1), P(2), ..., P(k); prove P(k+1)
- Regular induction and strong induction are equivalent, but strong induction can sometimes make proofs easier

Proof Using Strong Induction

Prove that if n is an integer greater than 1, then it is either a prime or can be written as the product of primes.

- Base case: same as before.
- ▶ Inductive step: Assume each of 2, 3, ..., k is either prime or product of primes.
- \blacktriangleright Now, we want to prove the same thing about k+1
- ▶ Two cases: k is either (i) prime or (ii) composite
- If it is prime, property holds.

Proof, cont.

- ▶ If composite, k + 1 can be written as pq where $2 \ge p, q \ge k$
- By the IH, p, q are either primes or product of primes.
- Thus, k + 1 can also be written as product of primes
- Observe: Much easier to prove this property using strong induction!

A Word about Base Cases

- In all examples so far, we had only one base case
 - i.e., only proved the base case for one integer
- ▶ In some inductive proofs, there may be multiple base cases
 - \blacktriangleright i.e., prove base case for the first k numbers
- In the latter case, inductive step only needs to consider numbers greater than k



